
AJMAL NATIONAL TALENT SEARCH (ANTS) EXAMINATION - 2013
CLASS : IV

Time : 2 Hours / a]Ì̂  f 2 H³Oôç Full Marks / ]ÇPö X¶‘ö» / å]ç»Oô X¶‘öÌ[ý f (30+30+40)=100
General Knowledge / açWýç»S pûçX / açWýç»Ì[ýS pûçX

1. The Vitamin provided by sunlight to the body ................
aÉ̂ ïî» »×`½ãÌ̂  YÒVçX Eõ»ç ×\öOôç×]X ×[ýWý éc÷ä$K÷ ....................* / aÉã ï̂Ì[ý %çã_ç åUãEõ YçCÌ̂ ç ×\öOôç×]X×Oô c÷_ .................................*
(A) Vitamin A (B) Vitamin B (C) Vitamin C (D) Vitamin D

×\öOôç×]X A ×\öOôç×]X B ×\öOôç×]X C ×\öOôç×]X D
2. The song "Feeling Something Something, Hello Honey Bonny" is associated with ..............

""×Zõ×_e $Jôç]×Ue $Jôç]×Ue, åc÷_' c÷ç×~ [ýç×~'' GçXäOôç åEõçX åEõç¶YçXÝ» ?
""×Zõ×_e »aç]×Ue »aç]×Ue, åc÷ã_ç c÷ç×X [ýç×X'' GçX×Oô .............. åEõç¶YçXÝÌ[ý*
(A) (B) (C) (D)

3. The largest satellite of which planet is named Titan ?
Tö_» åEõçX GÐc÷» %çOôç+TöêEõ QöçIø» =YGÐc÷äOôç» Xç] Oôç+OôçX ? / åEõçX GÐãc÷Ì[ý a[ý»Jôç+ãTö [ýQÍö =YGÐc÷×OôÌ[ý Xç] Oôç+OôçX ?
(A) Jupiter (B) Saturn (C) Uranus (D) Neptune

[ýÊc÷&×Tö ×̀X +=ã»Xç$K÷ / +=ãÌ[ýXça åXY$JÇôX
4. Which of the following figures will come next in the pattern given below ?

Tö_Tö ×VÌ̂ ç %ç×c÷ÛäOôç» Y»¾wøÞ ×$Jôy åEõçXäOôç ? / XÝä»Jô åVCÌ̂ ç X]ÇXçãTö YÌ[ý[ýTöÞ ×»Jôy×Oô ×Eõ c÷ã[ý ?

                 ?
(A) (B) (C) (D)

5. If you visit "Haigrib Madhab Mandir and Poa Mecca" you are in ...............
TÇö×] åEõçX Pöç+ }]S Eõ×»ã_ c÷Ì̂ GÐÝ[ý ]çWý[ý ]×³V» %ç»Ó åYç¾ç ]hõç Yç[ýç .......................*
^×V TÇö×] c÷Ì̂ GÐÝ[ý ]çWý[ý ]×³VÌ[ý A[ýe åYçCÌ̂ ç]hõçãTö }]ãS ^çC, Töã[ý TÇö×] %ç»K÷ .............................*
(A) Sivasagar (B) Hajo (C) Nalbari (D) Ajmer

×`¾açG» c÷çãLç X_[ýç»Ý %çL]Ý»
×`[ýaçGãÌ[ý c÷çãLçãTö X_[ýçÌ[ýÝãTö %çL]ÝãÌ[ý

6. 'Science and Technology Day' is observed on.................
"×[ýpûçX %ç»Ó YÒ̂ Ç×Nþ ×[ýVîç ×V¾a' ........................... Töç×»ãF Yç_X Eõ»ç c÷Ì̂ *
×[ýpûçX A[ýe YÒ̂ Ç×Nþ×[ýVîç ×V[ýa ............................. Töç×Ì[ýãF Yç_X EõÌ[ýç c÷Ì̂ *
(A) February 28 (B) April 7 (C) May 11 (D) June 5

28 åZõ[ýÐÓ¾ç»Ý / åZõ[ýÐÓÌ^çÌ[ýÝ 7 A×YÒ_ 11 å]' 5 LÇX
7. If 'Deepor Beel' is in Kamrup then 'Son Beel' is in ....................

×VY» ×[ý_ Eõç]»ÖYTö c÷ã_ åaçX ×[ý_ EõTö ? / ^×V VÝYÌ[ý ×[ý_ Eõç]Ì[ýÖãY, Töã[ý aXË×[ý_ .............................A*
(A) Dhubri (B) Dibrugarh (C) Karimganj (D) Dima Hasao

WýÇ[ýÇ»Ý / WýÇ[ýÇÌ[ýÝ ×Qö[ýÐÓGQÍö Eõ×»]Gt / Eõ×Ì[ý]Gt ×Qö]ç c÷ç$JôçC / ×Qö]ç c÷ç»açC
8. Who is known as "Frontier Gandhi" ?

åEõçXLX [ýî×NþEõ aÝ]çÜ™ö GçµùÝ [ýÇ×_ LXç ̂ çÌ̂  ? / aÝ]çÜ™ö GçµùÝ Eõçc÷çãEõ [ý_ç c÷Ì̂  ?
(A) Sanjay Gandhi (B) Khan Abdul Ghaffar Khan (C) Feroz Gandhi (D) Rajib Gandhi

atÌ̂  GçµùÝ FçX %çŒÇ_ GZËõZõç» FçX     ×Zõã»çL GçµùÝ »çLÝ[ý GçµùÝ
atÌ̂  GçµùÝ FçX %çŒÇ_ GZËõZõçÌ[ý FçX     ×ZõãÌ[ýçL GçµùÝ Ì[ýçLÝ[ý GçµùÝ
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9. The mark used to identify the purity of precious metals is ...............
]É_î[ýçX WýçTÇö» ×[ý£ˆùTöç [ýÇLç[ýê_ ........................ [ýî¾c÷ç» Eõ»ç c÷Ì̂ *
]É_î[ýçX WýçTÇöÌ[ý ×[ý£ˆùTöç ×XSïãÌ̂ Ì[ý LXî ......................... [ýî[ýc÷çÌ[ý EõÌ[ýç*
(A) ISI mark (B) ISO mark (C) Hall mark (D) FPO mark

ISI ]çEïõç ISO ]çEïõç Hall ]çEïõç FPO ]çEïõç
10. The NH 54 runs from Guwahati to .......................

54 Xe »çrÑôÝÌ̂  Hç+ YU m¾çc÷çOôÝ» Y»ç ............................ é_ éGä$K÷* / 54 Xe Ì[ýçrÑôÝÌ̂  YU mÌ̂ çc÷çOôÝ åUãEõ ..................... ×GãÌ̂ ä»K÷*
(A) Karimganj via Shillong  (B) Silchar via Haflong (C) Jorhat via Nagaon

(D) Dhubri
× Ÿ̀_e éc÷ Eõ×»]Gt c÷çZõ_e éc÷ ×`_$Jô» XGgçC éc÷ å^ç»c÷çOô WýÇ[ýÇ»Ý
×`_e c÷ãÌ̂  Eõ×Ì[ý]Gãt c÷çZõ_e c÷ãÌ̂  ×`_»JôãÌ[ý XGgçC c÷ãÌ̂  å^çÌ[ýc÷çOô WýÇ[ýÇÌ[ýÝãTö

11. Mr. Pranab Mukherjee became the President of India defeating ...............
Ò̀Ý YÒS¾ ]ÇFçLÞãÌ̂  EõçEõ Y»ç×LTö Eõ×» \öç»Tö» »çrÑôY×Tö éc÷×$K÷_* / YÒS[ý ]ÇFçLÞ ................ åEõ YÌ[ýç×LTö EõãÌ[ý \öçÌ[ýãTöÌ[ý Ì[ýçrÑôY×Tö c÷ãÌ̂ ×»K÷ã_X*

(A) Hamid Ansari (B) Pratibha Patil (C) P.A. Sangma (D) APJ Abdul Kalam
c÷ç×]V %çX$Jôç»Ý YÒ×Tö\öç Yç×Oô_ ×Y.A. $Jôçe]ç A×YãL %çŒÇ_ Eõç_ç]
c÷ç×]V %çXaç×Ì[ý YÒ×Tö\öç Yç×Oô_ ×Y.A. açe]ç A×YãL %çŒÇ_ Eõç_ç]

12. "The Bhagavad Gita" is an important part of ..................
\öçG¾Tö GÝTöç åEõçX ]c÷çEõç[ýî» ×[ýã`b %e` ? / "\öçG[ýTö GÝTöç' ......................... ×[ýã`b %e`*
(A) The Ramayana (B) The Mahabharata (C) The Upanishads (D) The Puranas

»ç]çÌ̂ S / Ì[ýç]çÌ^ãSÌ[ý ]c÷ç\öç»Tö / ]c÷ç\öçÌ[ýãTöÌ[ý =Y×XbV / =Y×XbãVÌ[ý YÇ»çS / YÇÌ[ýçãSÌ[ý
13. Basket balls are usually ................ in colour.

[ýçã•õOô [ý_ açWýç»SãTö ....................... »Iø» c÷Ì̂ * / [ýçã•õOô [ý_ açWýçÌ[ýSTö ........................ Ì[ýãIøÌ[ý c÷Ì̂ *
(A) Orange (B) Yellow (C) Blue (D) Red

Eõ]_ç c÷ç_WýÝÌ̂ ç / c÷_ÇV XÝ_ç/XÝ_ »Iøç / _ç_
14. Which of the following is not a product of Apple ?

Tö_» åEõçXäOôç Apple» =dYç×VTö aç]GÐÝ Xc÷Ì̂  ? / XÝä»JôÌ[ý åEõçX×Oô Apple AÌ[ý =dYç×VTö aç]GÐÝ XÌ̂  ?
(A) iphone (B) ipod (C) ipill (D) None of these

%ç+ åZõçX %ç+ YQËö %ç+ ×Y_ AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂
15. In computer terminology 'DTP' stands for .....................

Eõ×¶Y=Oôç»» Y×»\öçbçTö 'DTP'» a¶YÉSï »ÖY éc÷ä$K÷ ........................* / Eõ×¶Y=OôçãÌ[ýÌ[ý Y×Ì[ý\öçbçÌ̂  'DTP' AÌ[ý a¶YÉSï Ì[ýÖY c÷_ .............................*
(A) Desk Top Print (B) Desk Top Page (C) Desk Top Publishing (D) Desk Top Product

åQöj OôY ×YÒ³Oô åQöj OôY åYLË åQöj OôY Yç×[ýÀ× Ÿ̀e åQöj OôY YÒQöçkô
16. Which of the following games is named after a place ?

Tö_» åEõçX×[ýWý åF_ åEõçãXç Pöç+» Xç]» _GTö L×QÍöTö ? / XÝä»JôÌ[ý åEõçX åF_çÌ[ý Xç]çEõÌ[ýS AEõ×Oô ØšöçãXÌ[ý Xç]çXÇaçãÌ[ý EõÌ[ýç c÷Ì^ ?
(A) Soccer (B) Marathon (C) Tennis (D) Hockey

ZÇõOô[ý_ ]ç»çUX / ]îçÌ[ýçUX æOô×X$K÷ / æOô×Xa c÷×Eõ
17. M.F. Hussain was associated with which of the following form of Art ?

A].AZõ. §ä$K÷+X åEõçXäOôç Eõ_ç» _GTö L×QÍöTö %ç×$K÷_ ? / A]. AZõ §ãaX ............................... Eõ_çÌ[ý açãU L×QÍöTö ×»K÷ã_X*
(A) Poetry (B) Music (C) Sculpture (D) Painting

Eõç[ýî a†ÝTö ØšöçYTöî ×$Jôy
18. The National Song "Bande Mataram" was composed by ....................

[ýã³V]çTöË»] LçTöÝÌ̂  GÝTö×Oô ................................ »$JôXç Eõ×»×$K÷_* / LçTöÝÌ̂  GÝTö "[ýã³V ]çTöÌ[ý]' AÌ[ý Ì[ý»Jô×Ì̂ Töç .............................*
(A) Rabindra Nath Tagore (B) Bankim Chandra Chatterjee

»×[ý³VÐXçU PöçEÇõ» / Ì[ý[ýÝ³VÐXçU PöçEÇõÌ[ý [ý×áø] $Jô³VÐ $JôävôçYçWýîçÌ^ / [ý×áø] »Jô³VÐ »JôävôçYçWýîçÌ^
(C) Iqbal (D) Mahatma Gandhi



+Eõ[ýç_ / +Eõ[ýç_ ]c÷ç±Áç GçµùÝ / ]c÷ç±Áç GçµùÝ
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19. The name of the capital city of which of these states does not end with 'pur' ?
åEõçXFX »çLî» »çLWýçXÝ» Xç]» å`bTö "YÇ»' Xç+ ?
åEõçX Ì[ýçãLîÌ[ý Ì[ýçLWýçXÝÌ[ý Xçã]Ì[ý å`ãb "YÇÌ[ý' åX+ ?
(A) Chattisgarh (B) Rajasthan (C) Arunachal Pradesh (D) Assam

$K÷×wø`GQÍö »çLØšöçX / Ì[ýçLØšöçX %»ÓSç$Jô_ YÒãV` / %Ì[ýÓSç»Jô_ YÒãV` %a] /
%çaç]
20. Padma Awards are announced on the eve of ...............

Y²¿ YÇ»•õç» ....................... » YÒçEõlùSTö åHçbSç Eõ»ç c÷Ì̂ * / Y²¿ YÇÌ[ý•õçÌ[ý ............................ YÒçhõçã_ åHçbSç EõÌ[ýç c÷Ì̂ *
(A) Republic Day (B) Independence Day (C) Teachers' Day (D) Gandhi Jayanti
    GSTöÜ—ö ×V¾a/GSTöÜ—ö ×V[ýãaÌ[ý     Ø‘öçWýÝXTöç ×V¾a/Ø‘öçWýÝXTöç ×V[ýãaÌ[ý ×`lùEõ ×V¾a/×`lùEõ ×V[ýãaÌ[ý GçµùÝ LÌ̂ Ü™öÝ/GçµùÝ LÌ̂ Ü™öÝÌ[ý

21. 'Grand Slam' is associated with ..................
"æGÐ‰øä À̀]' .............................. åF_» _GTö L×QÍöTö* / GÐç‰øä À̀] ........................... åF_çÌ[ý açãU L×QÍöTö*
(A) Cricket (B) Tennis (C) Badminton (D) Soccer

×yÔãEõOô æOô×X$K÷ / æOô×Xa å[ýQö×]³OôX ZÇõOô[ý_
22. The maximum number of prizes in Filmfare Awards, 2013 was awarded to the film ...............

.......................... ×$JôãX]ç+ %çOôç+TöêEõ å[ý×$Jô ×Zõ_½ åZõÌ̂ ç» [ýgOôç _ç\ö Eõã»*

......................... »K÷×[ý×Oô 2013 aãXÌ[ý ×Zõ_½ãZõÌ^çÌ[ý YÇÌ[ý•õçÌ[ý %XÇœöçãX a[ý»Jôç+ãTö å[ý`Ý YÇÌ[ý•õçÌ[ý _ç\ö EõãÌ[ý*
(A) Barfi (B) Kahani (C) Jab Tak Hai Jaan (D) Agneepath

[ý»×Zõ / [ýÌ[ý×Zõ Eõçc÷çXÝ L[ý TöEõ åc÷ LçX %×GÂYU
23. Bihu is to Assam as Pongal is to .....................

×[ý§ ^×V %a]Tö Yç_X Eõ»ç c÷Ì̂  åTöãÜ™ö Y†ç_ ........................... Yç_X Eõ»ç c÷Ì̂ * / "×[ý§' ^×V %çaçã], Töã[ý "åYç†ç_' ................................*
(A) Kerala (B) Tamilnadu (C) Andra Pradesh (D) Odisha

åEõ»ç_ç / åEõÌ[ýç_çãTö Töç×]_XçQÇö / Töç×]_XçQÇöãTö %µÐùYÒãV` / %µÐùYÒãVã` =×»bîç / C×QöbçãTö
24. .................. is called the 'Manchester of Assam'.

............................ Eõ %a]» ]çXä$Jôrôç» [ýÇ×_ åEõç¾ç c÷Ì̂ * / ............................. åEõ "%çaçã]Ì[ý ]çXä»JôrôçÌ[ý' [ý_ç c÷Ì̂ *
(A) Hajo (B) Sivasagar (C) Sarthebari (D) Sualkuchi

c÷çãLç ×`¾açG» / ×`[ýaçGÌ[ý açãUï[ýç»Ý / açãUï[ýçÌ[ýÝ £¾ç_EÇõ$×Jô / £Ì̂ ç_EÇõ×»Jô
25. Yerawada Central Jail is in ........................

"+Ì̂ ç»ç¾çQÍöç' åEõ³VÐÝÌ̂  Eõç»çGç» ........................... Tö %¾×ØšöTö* / "+Ì̂ çÌ[ýçCÌ̂ çQÍöç' åEõ³VÐÝÌ̂  EõçÌ[ýçGçÌ[ý ..................... åTö %[ý×ØšöTö*
(A) Delhi (B) Mumbai (C) Pune (D) Chennai

×V{Ý ]Ç¶‘öç+ YÇXç æ$Jô~ç+
26. The political party that has not taken part in the General Election of India till now ..............

A×TöÌ̂ çê_ãEõ \öç»Tö[ýbï» açWýç»S ×X[ýïç$JôXTö %e` GÐc÷S XEõ»ç »çLêX×TöEõ V_äOôç éc÷ä$K÷ .................*
\öçÌ[ýTö[ýãbïÌ[ý açWýçÌ[ýS ×X[ýïç»JôãX AFX Y ï̂Ü™ö %e`GÐc÷S Xç EõÌ[ýç Ì[ýçLêX×TöEõ V_×Oô c÷_ ......................*
(A) Asom Gana Parishad (B) Aam Admi Party

%a] GS Y×»bV %ç] %çV]Ý Yç×OôÛ
%a] GS Y×Ì[ýbV %ç] %çV]Ý Yç×OôÛ

(C) All India United Democratic Front (D) Trinamool Congress
a[ýï \öç»TöÝÌ̂  ae Ç̂Nþ GSTöç×Ü—öEõ ]$JôÛç TÊöS]É_ EõeäGÐ$K÷
a[ýï \öçÌ[ýTöÝÌ̂  ae Ç̂Nþ GSTöç×Ü—öEõ ]»JôÛç TÊöS]É_ EõeäGÐ$a

27. The word 'Tsunami' is a ..................... word.
$JÇôXç]Ý `ŒäOôç ............................. \öçbç»* / "aÇXç]Ý' `Œ×Oô AEõ×Oô ........................ `Œ*



(A) Chinese (B) Japanese (C) Sanskrit (D) Latin
JôÝXç LçYçXÝ ae•ÊõTö å_×OôX
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28. Ali moved the minute hand of the clock given below by 900 degrees, clockwise. What time does the clock show now
?

%ç_ÝãÌ̂  ̂ ×Oô Tö_Tö ×VÌ̂ ç HQÍöÝäOôç» ×]×XOô» EõçgOôçQöç_ åaç ×V`Tö 900  HÉ»çÌ̂ , åTöãÜ™ö HQÍöÝäOôçã¾ ×Eõ]çX a]Ì̂  aÇ$Jôç[ý ?
%ç×_ XÝä»Jô åVCÌ̂ ç H×QÍö×OôÌ[ý ×]×XäOôÌ[ý EgõçÅOôç×Oô QöçX ×VãEõ 900 HÇÌ[ýçã_ H×QÍö×OôãTö a]Ì̂  ×Eõ åVFçã[ý ?

(A) (B) (C) (D)

29. The sequel of which film is not produced ?
åEõçXFX å[ýç_$K÷×[ý» Y»[ýwøÞ F‰ø ×X]ïçS åc÷ç¾ç Xç+ ? / åEõçX »K÷çÌ^ç»K÷×[ýÌ[ý YÌ[ý[ýTöÞ F‰ø ×X]ïçS c÷Ì^ Xç+ ?
(A) Don (B) Dabang (C) Dhoom (D) Talash

QöX Vç[ýçe WýÇ] Töç_ç`
30. Adil Hussain of Assam has become an international star for his role played in .....................

.................. å[ýç_$K÷×[ýTö %×\öXÌ̂  Eõ»ç» [ýçã[ý %a]» %ç×V_ §ä$K÷+X %çÜ™öLÛç×TöEõ %×\öãXTöç ×c÷$JôçãY Fîç×Tö _ç\ö Eõ×»ä$K÷*

...................... »K÷çÌ̂ ç»K÷×[ýãTö %×\öXÌ̂  EõÌ[ýçÌ[ý LXî %çaçã]Ì[ý %ç×V_ §ä»aX %çÜ™öLÛç×TöEõ %×\öãXTöç ×c÷açã[ý Fîç×Tö _ç\ö EõãÌ[ýä»K÷X*
(A) Barfi (B) Life of Pi (C) English Vinglish (D) The Impossible

[ý»×Zõ / [ýÌ[ý×Zõ _ç+Zõ %¾ Yç+ / _ç+Zõ %[ýËö Yç+      +e×_` ×\öe_Ý` ×V +¶Y×$K÷[ý_ / ×V +¶Y×a[ý_

General Science / açWýç»S ×[ýpûçX / açWýç»Ì[ýS ×[ýpûçX

31. Which of these lists has only living things in it ?
+Ì̂ ç» åEõçXFX Töç×_EõçÌ̂  åEõ¾_ LÝ¾Eõ [ýÇLçÌ̂  ? / XÝä»JôÌ[ý åEõçX×Oô Töç×_Eõç åEõ[ý_ LÝ[ýãEõ [ýÇMõçÌ̂  ?
(A) Rivers, lakes and pond (B) Plants, insects and birds

XVÝ, âÑ÷V %ç»Ó YÇFÇ»Ý / XVÝ, âÑ÷V A[ýe YÇEÇõÌ[ý =×àöV, YTö† %ç»Ó $Jô»ç+ / =×àöV, YTö† A[ýe YçFÝ
(C) Rivers, sky and soil (D) Animals, earthworms and soil

XVÝ, %çEõç` %ç»Ó ]ç×Oô / XVÝ, %çEõç` A[ýe ]ç×Oô YÒçSÝ, åEgõ$JÇô %ç»Ó ]ç×Oô / YÒçSÝ, åEõg»JÇô A[ýe ]ç×Oô
32. Plants growing on high walls or on tall trees obtain water from ..............

CF åV¾ç_ [ýç G$K÷Tö GLç =×àöãV .............................. YçXÝ aeGÐc÷ Eõã»*
=ð»JÇô åVCÌ̂ ç_ [ýç Gçä»K÷ GLç =×àöV .......................... åUãEõ L_ aeGÐc÷ EõãÌ[ý*
(A) the source on which they are growing (B) the land

×^ Pöç+ GãL Töç» Y»ç / å^FçãX GãL åaFçX ]ç×Oô» Y»ç / ]ç×Oô
(C) water bodies (D) the moisture present in the atmosphere

YçXÝ» =da» Y»ç / Lã_Ì[ý =da [ýçÌ̂ ÇTö UEõç L_ÝÌ̂  [ýç¹Y» Y»ç / [ýçÌ̂ ÇãTö UçEõç L_ÝÌ̂  [ýç¹Y
33. Animals living in deserts have ................

]»Ó\Éö×]Tö [ýça Eõ»ç LÝ¾» ........................* / ]Ì[ýÓ\Éö×]ãTö [ýça EõÌ[ýç LÝã[ýÌ[ý ................*
(A) thick fur (B) thick skin (C) both A & B (D) None of these

QöçPö åXç] UçãEõ QöçPö $K÷ç_ UçãEõ A %ç»Ó B =\öÌ̂ AOôçC Xc÷Ì̂
å_ç] HX c÷Ì̂ ±¼öEõ å]ç»Oôç c÷Ì̂ A A[ýe B VÇ×»Oô+ AEõ×OôC XÌ̂

34. Which of the following is not an omnivore ?



Tö_» åEõçXäOôç a[ýï\ölùÝ Xc÷Ì̂  ? / XÝä»JôÌ[ý åEõçX×Oô a[ýïã\öçLÝ XÌ^ ?
(A) Bear (B) Crow (C) Man (D) None of these

\öç_ÇEõ Eõç=»Ý / EõçEõ ]çXÇc÷ / ]çXÇb AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂
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35. The main role of a producer is ....................
=dYçVEõ» YÒWýçX Eõç ï̂î éc÷ä$K÷ .................................* / =dYçVãEõÌ[ý YÒWýçX Eõç ï̂ c÷_ ......................*
(A) to kill animals (B) to prepare food

YÒçSÝ [ýWý Eõ»ç / YÒçSÝ c÷Töîç EõÌ[ýç FçVî YÒØ™ÇöTö Eõ»ç / FçVî YÒØ™ÇöTö EõÌ[ýç
(C) to get eaten by plant-eating animals (D) to eat other plants

TÊöSã\öçLÝ YÒçSÝ» ¥ç»ç \ölùS åc÷ç¾ç %Xî =×àöVEõ \ölùS Eõ»ç
TÊöSã\öçLÝ YÒçSÝÌ[ý ¥çÌ[ýç \ölùS c÷CÌ̂ ç %Xî =×àöVãEõ \ölùS EõÌ[ýç

36. In radish, food is stored in .................
]É_ç» ålùyTö ........................... Tö FçVî a‡ûÌ̂  c÷Ì̂ * / ]É_çÌ[ý ............................. FçVî a‡ûÌ̂  c÷Ì̂ *
(A) leaves (B) stem (C) roots (D) flowers

YçTö / YçTöçÌ̂ Eõç‰ø / Eõçã‰ø ×`Yç / ]Éã_ ZÇõ_ / ZÇõã_
37. During photosynthesis, plants use ..................... gas and release .................... gas.

açã_çEõ aeä À̀bSTö =×àöãV .......................... åG$K÷ [ýî¾c÷ç» Eõã» %ç»Ó ..................... åG$K÷ ×XGïTö Eõã»*
açã_çEõ aeä À̀bãS =×àöV ...................................... Gîça [ýî[ýc÷çÌ[ý EõãÌ[ý A[ýe ........................ Gîça ×XGïTö EõãÌ[ý*
(A) carbon dioxide, oxygen (B) oxygen, carbon dioxide

Eõç[ýïX Qöç+%jç+Qö, %×jãLX %×jãLX, Eõç[ýïX Qöç+%jç+Qö
(C) oxygen, nitrogen (D) nitrogen, oxygen

%×jãLX, Xç+®ÏôãLX Xç+®ÏôãLX, %×jãLX
38. The animals which live both on land and in water are called amphibians. Frog is such an animal, Now where

do frogs lay their eggs ?
]ç×Oô %ç»Ó YçXÝ =\öÌ̂ ãTö [ýça Eõ»ç YÒçSÝEõ =\ö$Jô» å[ýçã_* å\öEÇõ_Ý åTöãX AOôç YÒçSÝ c÷ã_ + EõTö EõSÝ Yç×»[ý ?
]ç×Oô A[ýe Lã_ [ýça EõÌ[ýç YÒçSÝãEõ =\ö»JôÌ[ý [ýã_* [ýîçIø åa+ WýÌ[ýãSÌ[ý YÒçSÝ c÷ã_, åEõçUçÌ^ ×Qö] YçQÍöã[ý ?
(A) Land (B) Water

]ç×Oô / ]ç×OôãTö YçXÝ / Lã_
(C) Both land and water (D) Land in summer and water in winter

]ç×Oô %ç»Ó YçXÝ =\öÌ̂ GÐÝ¹‚ Eõç_Tö ]ç×OôTö %ç»Ó ̀ ÝTö Eõç_Tö YçXÝTö
]ç×Oô A[ýe L_ =\öãÌ̂ GÌ[ý]Eõçã_ ]ç×OôãTö A[ýe `ÝTöEõçã_ Lã_

39. Which of the following is not a mammal ?
Tö_» åEõçXäOôç Ø™öXîYçÌ̂ Ý YÒçSÝ Xc÷Ì̂  ? / XÝä»JôÌ[ý åEõçX×Oô Ø™öXîYçÌ̂ Ý YÒçSÝ XÌ̂  ?
(A) Whale (B) Tiger (C) Dolphin (D) Turtle

×Tö×]]ç$K÷ [ýçH Qö_×ZõX Eõç$K÷ / Eõ¬K÷Y
40. The inner layer of the stomach releases ................

YçEõØšö_Ý» %ç\öîÜ™ö»ÝX Ø™öä» ô.......................... ×Xfa»S Eõã»* / YçEõØšö_ÝÌ[ý %ç\öîÜ™öÌ[ýÝS Ø™öÌ[ý ...................... ×XfaÌ[ýS EõãÌ[ý*
(A) water (B) blood (C) minerals (D) digestive juices

YçXÝ / L_ »Nþ / L_ F×XL _¾X / F×XL _[ýS Yç$JôEõ »a / Yç»JôEõ Ì[ýa
41. In the large intestine .............. is absorbed.

[ýÊc÷VçÜ—öTö ................................ å`ç×bTö c÷Ì̂ * / [ýÊc÷VçãÜ™ö ...................... å`ç×bTö c÷Ì̂ *
(A) fat (B) water (C) blood (D) protein

åØoöc÷ YVçUï YçXÝ / L_ åTöL / Ì[ýNþ YÒ×OôX / æYÒç×OôX
42. Nutrients which are called protective foods are

`»Ý» »lùç Eõç»Ý Y×»ãYçbEõ éc÷ä$K÷ ........................* / Ì̀[ýÝÌ[ý Ì[ýlùçEõçÌ[ýÝ Y×Ì[ýãYçbEõ c÷_ ........................*



(A) carbohydrates (B) proteins (C) fats (D) vitamins and minerals
Eõç[ýï'c÷ç+äQÎöOô YÒ'×OôX åØoöc÷ YVçUï ×\öOôç×]X %ç»Ó F×XL _¾X
Eõç[ýï'c÷ç+äQÎöOô æYÒç×OôX åØoöc÷ YVçUï ×\öOôç×]X A[ýe F×XL _[ýS
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43. Fill in the blank : Sugar + Plaque → ..........................
Fç_Ý Pöç+ YÉ»S Eõ»ç f æ$Jô×X + YÀçEõ → .................. / ̀ ÉSîØšöçX YÉSï EõÌ[ý f ×»Jô×X + YÀçEõ → .......................
(A) Starch (B) Enamel (C) Acids (D) Microbes

`Eïõ»ç / ̀ EïõÌ[ýç %çã_ç / ]ç×QÍö A×$JôQö / A×aQö %SÇLÝ¾ / %SÇLÝ×[ý
44. Penicillin is obtained from ...........................

.................................... » Y»ç åY×X×$Kô×_X %çc÷»S Eõ»ç c÷Ì̂ * / ...................... åUãEõ åY×X×a×_X %çc÷Ì[ýS EõÌ[ýç c÷Ì̂ *
(A) bacteria (B) viruses (C) fungi (D) yeast

å[ýãkô»ÝÌ̂ ç / å[ýãkô×Ì[ýÌ̂ ç \öç+»ç$K÷ / \öç+Ì[ýç»a å\göEÇõ» / »K÷yçEõ +rô / ]Ì^Vç
45. What should be sprayed on stagnant water to prevent breeding of mosquitoes ?

[ýµù YçXÝTö ]c÷» [ýe` [ýÊ×ˆù åÌ[ýçWý Eõ×»[ýê_ YçXÝ» CY»Tö ×Eõ $K÷×OôÌ̂ ç[ý _çãG ?
L]ç Lã_ ]`çÌ[ý [ýe`[ýÊ×ˆù åÌ[ýçWý EõÌ[ýãTö Lã_Ì[ý =YÌ[ý ×Eõ ×»K÷OôçãTö c÷Ì̂  ?
(A) ORS (B) Boiled water (C) Kerosene (D) None of these

%.%ç».A$Jô / C.%çÌ[ý.Aa G»] YçXÝ / GÌ[ý] L_ åEõ»ç×$JôX / åEõãÌ[ýç×aX AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂
46. The two main processes of making fabrics are ................

............................. A+ VÇOôç YÒ×yÔÌ̂ ç» ¥ç»ç %çgc÷ éTöÌ̂ ç» c÷Ì̂ * / ....................... A+ VÇ×Oô YÒ×yÔÌ̂ çÌ[ý ¥çÌ[ýç aÉTöç éTöÌ̂ çÌ[ý c÷Ì̂ *
(A) ginning and weaving (B) weaving and knitting (C) weaving and spinning (D) None of these

EõYçc÷ åXCPö×X %ç»Ó [ýÌ̂ X [ýÌ̂ X %ç»Ó mgPöç [ýÌ̂ X %ç»Ó aÉTöçEõOôç AOôçC Xc÷Ì̂
TÇö_çWýÇXç A[ýe [ýÌ^X [ýÌ^X A[ýe [ýÇXç [ýÌ̂ X A[ýe aÉTöçEõçOôç AEõ×OôC XÌ̂

47. Light coloured clothes keep our bodies cool because they ..................
YçTö_ »e» EõçãYçã» %ç]ç» ̀ »Ý» Pöç‰øç »çãF Eõç»S A+ã[ýçã» ..................................*
c÷ç_Eõç Ì[ýeãÌ̂ Ì[ý EõçYQÍö %ç]çãVÌ[ý Ì̀[ýÝÌ[ýãEõ Pöç‰øç Ì[ýçãF EõçÌ[ýS A+ WýÌ[ýãSÌ[ý EõçYQÍö .............................*
(A) absorb moisture present in the air (B) absorb sweat of our body better

[ýçÌ̂ ÇTö UEõç L_ÝÌ̂ [ýç¹Y å`çbS Eõã» %ç]ç» ̀ »Ý»» Hç] \öç_Vã» å`çbS Eõã»
[ýçÌ̂ ÇãTö UçEõç L_ÝÌ̂ [ýç¹Y å`çbS EõãÌ[ý %ç]çãVÌ[ý Ì̀[ýÝãÌ[ýÌ[ý Hç] \öç_\öçã[ý å`çbS EõãÌ[ý

(C) reflect heat of our body (D) reflect more sunlight
%ç]ç» ̀ »Ý»» TöçY YÒ×TöZõ×_Tö Eõã» aÉ̂ ïî» åYçc÷» %×WýEõ YÒ×TöZõ×_Tö Eõã»
%ç]çãVÌ[ý Ì̀[ýÝãÌ[ýÌ[ý TöçY YÒ×TöZõ×_Tö EõãÌ[ý aÉã ï̂Ì[ý %çã_ç %×WýEõ YÒ×TöZõ×_Tö EõãÌ[ý*

48. Burning of fire needs .......................
LÇ+ L•×_[ýê_ ................................. » %ç¾`îEõ* / %çmX L•ç_ç+ãTö .................................. AÌ[ý %ç[ý`îEõ*
(A) Oxygen (B) Carbon dioxide (C) nitrogen (D) water vapour

%×jãLX Eõç[ýïX Qöç+ %jç+Qö Xç+®ÏôãLX L_ÝÌ̂  [ýç¹Y
49. Land breeze blows during ...............

Øšö_ [ýTöçc÷ ............................. [ýã_* / Øšö_[ýçÌ̂ Ç ................................. [ýÌ̂ *
(A) day time (B) noon time (C)  night time (D) morning

×VXTö / ×VãX VÇY»ÝÌ̂ ç / VÇYÇãÌ[ý »ç×Tö / Ì[ýçãTö »ç×TöYÇ¾ç / aEõçã_
50. Which of the following are the substances that are present in the soil and required for the growth of crops ?

]ç×OôTö UEõç Tö_» åEõçX×[ýWý YVçUï ̀ aî» [ýÊ×ˆù» [ýçã[ý %ç¾`îEõ ? / ]ç×OôãTö UçEõç XÝä»JôÌ[ý åEõçX×Oô ̀ aî [ýÊ×ˆùÌ[ý LXî %ç[ý`îEõ ?
(A) Manures (B) Pesticides (C) Fertilisers (D) Nutrients

aç» / açÌ[ý EõÝOôXç`Eõ / EõÝOôXç`Eõ »çaçÌ̂ ×XEõ aç» / Ì[ýçaçÌ̂ ×XEõ açÌ[ý Y×»ãYçbEõ /
Y×Ì[ýãYçbEõ
51. The kind of soil that does not allow free circulation of air in it is ..................



............................. åÌ̂  +Ì̂ ç» ]çãL×V [ýçÌ̂ Ç ]ÇNþ\öçã[ý a‡ûç×»Tö c÷'[ý ×X×VãÌ̂ *
å^ ]ç×Oô [ýçÌ̂ ÇãEõ +Ì̂ çÌ[ý ]Wýî ×VãÌ̂  ]ÇNþ\öçã[ý a‡ûç×Ì[ý»Tö c÷ãTö åVÌ̂ Xç åa×Oô c÷_ ..............................*
(A) loamy soil (B) sandy soil (C) humus (D) clayey soil

åVçã]çLç ]ç×Oô [ýç×_$Jôc÷ÝÌ̂ ç ]ç×Oô ×c÷=]ç$K÷ å[ýçEõç ]ç×Oô
åVç-%çg̀  ]ç×Oô [ýç_Ç]ç×Oô ×c÷=]ça EõçVç ]ç×Oô
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52. If we take three samples of a solid, liquid and gas, each having a fixed volume of 1 cm3, then which of them will
have the most number of molecules ?
^×V åGçOôç, LÇ_ÝÌ̂ ç %ç»Ó åG$K÷» 1 HX æ$K÷.×]. ×X×VÛrô %çÌ̂ TöX» ×Tö×XOôç X]ÇXç å_ç¾ç c÷Ì̂  åTöãÜ™ö åEõçXäOôçTö %XÇ» aeFîç %×WýEõ c÷[ý ?
^×V Eõ×PöX, TöÌ[ý_ A[ýe GîçãaÌ[ý 1 HX æa÷.×]. ×X×VÛrô %çÌ̂ TöãXÌ[ý ×TöX×Oô X]ÇXç åXCÌ̂ ç c÷Ì̂ , Töã[ý åEõçX×OôãTö %SÇÌ[ý aeFîç a[ý»Jôç+ãTö å[ý`Ý c÷ã[ý ?
(A) Solid (B) Liquid (C) Gas                   (D) same in all the three

åGçOôç LÇ_ÝÌ̂ ç åG$K÷ ×Tö×XCOôç a]çX c÷[ý
Eõ×PöX TöÌ[ý_ Gîça ×TöX×OôãTö a]çX c÷ã[ý

53. Which of the following processes involves a decrease in the intermolecular force between the molecules ?
Tö_» åEõçXäOôç YÒ×yÔÌ̂ ç» ålùyTö %XÇã[ýç»» ]çL» %çÜ™ö-%çS×¾Eõ [ý_ Eõ×][ý ? / XÝä»JôÌ[ý åEõçX YÒ×yÔÌ̂ çÌ̂  %SÇm×_Ì[ý ]ãWýî %çÜ™ö-%çS×[ýEõ [ý_ Eõã] ?
(A) Condensation (B) Crystallization (C) Evaporation (D) All of these

WýXÝ\ö¾X / HXÝ\ö[ýX VçXçEõ»S / VçXçEõÌ[ýS [ýç¹YÝ\ö¾X / [ýç¹YÝ\ö[ýX %çOôç+ãEõ+Oôç / a[ýEõÌ̂ ×Oô
54. To do work, we need ................

Eõç ï̂î Eõ×»[ýê_ ............................ » %ç¾`îEõ* / Eõç ï̂ Eõ×Ì[ýãTö ............................... %ç[ý`îEõ*
(A) force (B) energy (C) hands (D) muscles

[ý_ / [ýã_Ì[ý `×Nþ / ̀ ×NþÌ[ý c÷çTö / c÷çãTöÌ[ý åY`Ý / åY`ÝÌ[ý
55. Which energy conversion takes place during photosynthesis ?

açã_çEõ aeä À̀bS» ålùyTö åEõçXäOôç ̀ ×Nþ» Y×»[ýTöÛX c÷Ì̂  ? / açã_çEõ aeä À̀bãSÌ[ý ålùäy åEõçX ̀ ×NþÌ[ý Y×Ì[ý[ýTöÛX c÷Ì̂  ?
(A) Heat energy → Light energy (B) Light energy → Heat energy

TöçY`×Nþ → åYçc÷» ̀ ×Nþ / TöçY`×Nþ → %çã_çEõ`×Nþ åYçc÷» ̀ ×Nþ → TöçY ̀ ×Nþ / %çã_çEõ`×Nþ → TöçY`×Nþ
(C) Light energy → chemical energy (D) Heat energy → chemical energy

åYçc÷» ̀ ×Nþ→»çaçÌ̂ ×XEõ ̀ ×Nþ / %çã_çEõ`×Nþ→Ì[ýçaçÌ̂ ×XEõ ̀ ×Nþ TöçY`×Nþ → »çaçÌ^×XEõ `×Nþ/
TöçY`×Nþ → Ì[ýçaçÌ̂ ×XEõ ̀ ×Nþ
56. To measure weight of milk, which of the following units can be used ?

GçFÝ»» CLX LÇ×F[ýê_ Tö_» åEõçXäOôç AEõEõ [ýî¾c÷ç» Eõ×»[ý Yç×» ? / VÇãWýÌ[ý CLX ]çYãTö XÝä»JôÌ[ý åEõçX AEõEõ [ýî[ýc÷çÌ[ý EõÌ[ýç c÷Ì̂  ?
(A) Seconds (B) Millilitre (C) Fahrenheit (D) Milligram

æ$K÷ãEõ‰ø / åaãEõ‰ø ×]×_ ×_Oôç» / ×]×_ ×_OôçÌ[ý Zõçä»Xc÷ç+Oô / ZõçãÌ[ýXc÷ç+Oô ×]×_GÐç]
57. Which of the following statements is not true ?

Tö_» åEõçXäOôç =×Nþ aTöî Xc÷Ì̂  ? / XÝä»JôÌ[ý åEõçX =×Nþ×Oô aTöî XÌ̂  ?
(A) Mass remains same everywhere (B) Weight remains same every where

\ö» aEõã_çãTö a]çX UçãEõ / \öÌ[ý YÒãTöîEõ ØšöçãX AEõ+ UçãEõ CLX aEõã_çãTö a]çX UçãEõ / CLX YÒãTöîEõØšöçãX AEõ+ UçãEõ
(C) 1

4
th of a minute = 15 seconds (D) 5

1
2

 km = 5500 m
AEõ ×]×XOô» 

1
4

 %e` = 15 æ$K÷ãEõ‰ø 5

1
2

 ×Eõ.×]. = 5500 ×].

AEõ ×]×XäOôÌ[ý 

1
4

 %e` = 15 åaãEõ‰ø
58. Find the odd one :

%×]_äOôç [ýç×$K÷ =×_C¾ç f / %×]_×Oô å[ýä»K÷ XçCf

(A) Brightest planet - Venus (B) Planets without satellite - Venus
=L•_ GÐc÷-£yÔ =YGÐc÷ XUEõç GÐc÷-£yÔ / =YGÐc÷ XçUçEõç GÐc÷-£yÔ



(C) Planets with rings - Uranus (D) smallest planet - Jupiter
%çIø×Pö UEõç GÐc÷-+=ã»Xç$Jô / %çIø×Oô UçEõç GÐc÷-+=ãÌ[ýXça %çOôç+TöêEõ a»Ó GÐc÷-[ýÊc÷&×Tö / a[ý»Jôç+ãTö æ»K÷çOô GÐc÷-[ýÊc÷&×Tö

59. Which of the following is not a part of the solar syatem ?
Tö_» åEõçXäOôç åaì» LGTö» %e` Xc÷Ì̂  ? / XÝä»JôÌ[ý åEõçX×Oô åaìÌ[ýLGãTöÌ[ý %e` XÌ^ ?
(A) Earth (B) Moon (C) Jupiter (D) Pole star

YÊ×U¾Ý / YÊ×U[ýÝ $Jô³VÐ [ýÊc÷&×Tö WýÐÓ¾ Tö»ç / WýÐÓ[ý TöçÌ[ýç
- 8 -

60. In which place would the weather remain almost the same throughout the year ?
Tö_Tö =ã{×FTö åEõçX Pöç+Tö [ý$K÷»» aEõã_ç a]Ì̂ ãTö L_[ýçÌ̂ Ç AãEõ UçãEõ ? / åEõçX LçÌ̂ GçÌ̂  a¶YÉSï [ý»K÷Ì[ý L_[ýçÌ̂ Ç YÒçÌ̂  AEõ+ UçãEõ ?
(A) On a hill station (B) Coastal area (C) Near a desert (D) Near a river
Yçc÷ç»ÝÌ̂ ç Pöç+ / Yçc÷çQÍöÝÌ̂ ç %‡û_ =YEÉõ_ %‡û_ ]»Ó\Éö×] %‡û_ / ]Ì[ýÓ\Éö×] %‡û_ XVÝ %‡û_

General Maths / açWýç»S G×STö / açWýç»Ì[ýS G×STö

61. The Roman numeral for 3721 ÷ 61 is ..............
3721 ÷ 61 » a]TÇö_î å»ç]çX aeFîçäOôç .....................*
3721 ÷ 61 AÌ[ý a]TÇö_î åÌ[ýç]çX aeFîç×Oô.........................*
(A) LC (B) XLI (C) LXI (D) CM

62. Five lakhs is equal to ..................... thousands.
Ygç$Jô _çF» a]TÇö_î ....................................... c÷çLç»* / Ygç»Jô _çãFÌ[ý a]çX .................................. c÷çLçÌ[ý*
(A) 50 (B) 5 (C) 5000 (D) 500

63. Write the smallest 5 digit number using three digits with 7 in the thousand's place.
7 Eõ c÷çLç»» H»» %eEõ ×c÷$JôçãY é_ ×Tö×XOôç %eEõ [ýî¾c÷ç» Eõ×» %çOôç+TöêEõ a»Ó 5 Oôç %eEõ ×[ý×`œö aeFîçäOôç ×_Fç ?
7 åEõ c÷çLçãÌ[ýÌ[ý %eãEõÌ[ý ØšöçãX [ý×aãÌ^ ×TöX×Oô %eEõ [ýî[ýc÷çÌ[ý EõãÌ[ý 5 %áø ×[ý×`rô a[ý»Jôç+ãTö æ»K÷çOô aeFîç ×_F*
(A) 77710 (B) 17001 (C) 07100 (D) 17000

64. 555 x 193 - 555 x 93 = .................
(A) 555,931 (B) 1,210,321 (C) 53,912 (D) 55,500

65. The number that comes in the place of ∗ is ...............
∗ ×$JôX» Pöç+Tö [ý×c÷[ý _Gç aeFîçäOôç c÷[ý .....................* / ∗ ØšöçãX [ýaç+ãTö YçÌ[ýç a×PöEõ aeFîç .............................*

36
16
4925

9
∗

(A) 60 (B) 84 (C) 64 (D) 68
66. 139 - 138 + 19 - 18 + 17 - 16 + 15 -14 = ....................

(A) 224 (B) 168 (C) 4 (D) 1
67. A prime number ..........................

AOôç å]ì×_Eõ aeFîç .............................* / AEõ×Oô å]ì×_Eõ aeFîç...............................
(A) has exactly one factor (B) has exactly two factors

» ]çy AOôçãc÷ =dYçVEõ UçãEõ / ]çy AEõ =dYçVEõ ×[ý×`rô ]çy VÇOôçãc÷ =dYçVEõ UçãEõ / ]çy VÇ+ =dYçVEõ ×[ý×`rô
(C) is not divisible by 2 (D) is an odd number

2 å» ×[ý\öçLî Xc÷Ì̂  / 2 ¥çÌ[ýç ×[ý\öçLî c÷Ì^ Xç AOôç % Ç̂G½ aeFîç / AEõ×Oô % Ç̂G½ aeFîç
68. The smallest prime factor of 1001 is ................



1001 » lÇùVÐTö] å]ì×_Eõ =dYçVEõ c÷_ ....................*
1001 AÌ[ý lÇùVÐTö] å]ì×_Eõ =dYçVEõ c÷_ ....................*
(A) 7 (B) 5 (C) 3 (D) 11

69. 0 x 21 = ...........
(A) 0 + 21 (B) 0 - 21 (C) 0 ÷ 1 (D) None of these

AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂
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70. 10 students planted 530 trees. If each student planted equal numbers of trees, how many trees did each
student plant ?
10 LX $K÷çy-$K÷çyÝãÌ̂  530 åLçYç G$K÷ å»çã¾, ̂ ×V YÒ×TöLX $K÷çy-$K÷çyÝãÌ̂  a]çX G$K÷ å»çã¾ åTöãÜ™ö YÒ×TöLX $K÷çy-$K÷çyÝãÌ̂  ×Eõ]çX G$K÷ å»ç[ý ?
10 LX »K÷çy-»K÷çyÝ 530 ×Oô »JôçÌ[ýç åÌ[ýçYS EõãÌ[ý* ̂ ×V YÒ×TöLX »K÷çy-»K÷çyÝ a]çX »JôçÌ[ýç åÌ[ýçYS EõãÌ[ý, Töã[ý YÒ×TöLX »K÷çy»K÷çyÝ EõTö×Oô Gç»K÷ åÌ[ýçYS EõãÌ[ý ?
(A) 530 x 10 (B) 530 - 10 (C) 530 ÷ 10 (D) 530 + 10

71. Find a number which is a multiple of all the numbers from 1 to 10 ?
1 » Y»ç 10 é_ YÒ×TöäOôç aeFîç» m×STöEõ aeFîçäOôç ×Eõ ? / 1 åUãEõ 10 Y ï̂Ü™ö YÒ×Tö×Oô aeFîçÌ[ý m×STöEõ c÷_ .........................*
(A) 5040 (B) 1260 (C) 720 (D) 1440

72. Which of the following statements is true ?
Tö_» åEõçXäOôç =×Nþ aTöî ? / XÝä»JôÌ[ý åEõçX =×Nþ×Tö aTöî ?
(A) All prime numbers are odd number (B) All even numbers are composite numbers

YÒ×TöäOôç å]ì×_Eõ aeFîç+ % Ç̂G½ YÒ×TöäOôç ̂ ÇG½ aeFîç+ å^ì×GEõ aeFîç
 YÒ×Tö×Oô å]ì×_Eõ aeFîç+ % Ç̂G½ YÒ×Tö×Oô ̂ ÇG½ aeFîç+ å^ì×GEõ aeFîç

(C) 1 is the smallest prime number (D) None of these
1 %çOôç+TöêEõ a»Ó å]ì×_Eõ aeFîç AOôçC Xc÷Ì̂
1 a[ý»Jôç+ãTö æ»K÷çOô å]ì×_Eõ aeFîç AEõ×OôC XÌ̂

73. The product of the shaded parts .......................
$K÷gçã» %ç[ýÊwø %e` VÇOôç» YÉ»SZõ_ ...................................* / »K÷çÌ̂ çÌ̂  %ç[ýÊTö %e` VÇ×OôÌ[ý YÉÌ[ýSZõ_ ...............................*

  

(A) 7
36 (B)

5
36

(C)

6
7

(D) None of these
A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

74. The result of addition and subtraction of two numbers are 100 and 40 respectively. Their product will be .........
VÇOôç aeFîç» å^çGZõ_ %ç»Ó ×[ýãÌ̂ çGZõ_ yÔã] 100 %ç»Ó 40 c÷ã_, aeFîç VÇOôç» YÉ»SZõ_ c÷[ý .............................*
VÇ×Oô aeFîçÌ[ý å^çGZõ_ A[ýe ×[ýãÌ̂ çGZõ_ yÔã] 100 A[ýe 40 c÷ã_ aeFîç VÇ×OôÌ[ý YÉÌ[ýSZõ_ c÷ã[ý ...........................*
(A) 4000 (B) 2100 (C) 4200 (D) None of these

A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂
75. Total numbers of triangles by joining the four corners of a square will be .............

AOôç [ýGïãlùy» $Jôç×»COôç åEõçS ae_GÂ Eõ×» åYç¾ç ×Åy\ÉöL» aeFîç c÷[ý ......................*
AEõ×Oô [ýGïãlùäyÌ[ý »Jôç×Ì[ýOôç åEõçS ae_GÂ EõÌ[ýã_ ×Åy\ÇöãLÌ[ý å]çOô aeFîç c÷ã[ý ..............................*
(A) 2 (B) 4 (C) 6 (D) 8

76. A circle is inscribed in a square as shown below. If the radius of the circle is 3 m then the area of the square is
...................... sq/m
Tö_Tö åVFÇC¾ç Vã» AOôç [ýGïãlùy» ×\öTö»Tö [ýÊwø AOôç %gEõç c÷_* ^×V [ýÊwøäOôç» [ýîçaçWýï  3 ×]. c÷Ì̂ , åTöãÜ™ö [ýGï ålùyäOôç» Eõç×_ c÷[ý ..............................
[ýGï ×].*
XÝä»Jô åVFçãXç ]ãTö AEõ×Oô [ýGïãlùäyÌ[ý ×\öTöãÌ[ý [ýÊwø AEõ×Oô %çgEõç c÷_* ̂ ×V [ýÊwø×OôÌ[ý [ýîçaçWýï 3 ×]. c÷Ì̂ , Töã[ý [ýGïãlùäyÌ[ý Eõç×_ c÷ã[ý .............. [ýGï ×].*



3 cm

(A) 9 (B) 36 (C) 24 (D) None of these
A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂
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77. How many one-fourths need to be added to 2

1
4

 to make 4?
2

1
4

 » _GTö ×Eõ]çX aeFîEõ AEõ $JôTÇöUïçe` å^çG Eõ×»ã_ 4 c÷[ý ?
2

1
4

 AÌ[ý açãU EõÌ̂ ×Oô AEõ-»JôTÇöUïçe` å^çG EõÌ[ýã_ 4 c÷ã[ý ?
(A) 3 (B) 42 (C) 5 (D) 7

78. Express 0.25 as a fraction in its lowest terms.
0.25Eõ _×Hœö %çEõç»» \öGÂçe`Tö YÒEõç` Eõ»ç* / 0.25 åEõ _×Hœö %çEõçãÌ[ýÌ[ý \öGÂçeã` YÒEõç` EõÌ[ý*
(A)

1
4

(B)

2
5

(C)

1
2

(D)

25
100

79. Ratul bought 1.75 kg of sugar to make 7 cakes. The mass, in kg, of sugar needed for each cake is ..............
»çTÇöã_ 7Oôç åEõEõ [ýXç[ýê_ 1.75 ×Eõ.GÐç. æ$Jô×X %ç×Xã_ YÒ×TöäOôç åEõEõ» [ýçã[ý ×Eõ. GÐç] ×$c÷TöçYTö æ$Jô×X _ç×G[ý .........................*
Ì[ýçTÇö_ 7 ×Oô åEõEõ [ýçXçãXçÌ[ý LXî 1.75 ×Eõ.GÐç ×»Jô×X ×EõXã_ YÒ×Tö×Oô åEõãEõÌ[ý LXî ×Eõ.GÐç. ×c÷açã[ý ×»Jô×X _çGã[ý ......................*
(A) 0.25 (B) 0.35 (C) 2.5 (D) 3.5

80. 729 x 0.8 = ..............
(A) 83.64 (B) 583.64 (C) 82.74 (D) None of these

A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂
81.

1
2

 + 0.5 + 

1
4

+ 0.25= ....................
(A) 1.25 (B) 1.05 (C) 1

1
2

(D) None of these
A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

82. Number of days in the year 2012 was ...............
2012 $JôXTö ]ÇPö ×VX» aeFîç %ç×K÷_.......................*
2012 aãX å]çOô ×VãXÌ[ý aeFîç ×»K÷_ ......................*
(A) 365 (B) 366 (C) Either A or B (D) None of these

A %U[ýç B A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂
83. 1 ml = ........................

1 ×].×_. = .................
(A) 0.01 l (×_.) (B) 0.001 l (×_.) (C) 1000 l (×_.) (D) None of these

A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂
84. .......................... quintals are there in 6 tons.

6 OôXTö ........................... EÇõ+°Oô_* / 6 OôãX ........................... EÇõ+°Oôç_*
(A) 100 (B) 60 (C) 10 (D) 600

85. Which of the following is likely to have a capacity of 200 litres ?
Tö_» åEõçXäOôç» Wýç»S lù]Töç 200 ×_Oôç» c÷[ý Yçã» ?
XÝä»JôÌ[ý åEõçX×OôÌ[ý WýçÌ[ýSlù]Töç 200 ×_OôçÌ[ý c÷ãTö YçãÌ[ý ?
(A) A glass (B) A pressure cooker (C) A water tank (D) A pond

AOôç ×G_ç$Jô AOôç æYÒ$Jôç» EÇõEõç» AOôç YçXÝ æOôeEõÝ AOôç YÇFÇ»Ý
AEõ×Oô GÀça AEõ×Oô æYÒaçÌ[ý EÇõEõçÌ[ý AEõ×Oô Lã_Ì[ý æOôáø AEõ×Oô YÇEÇõÌ[ý

86. How many plane faces does a cuboid have ?
AOôç %çÌ̂ TöÝÌ̂  HXEõ» åEõ+Oôç a]Tö_ UçãEõ ? / AEõ×Oô %çÌ̂ TöÝÌ̂  HSãEõÌ[ý EõÌ̂ ×Oô a]Tö_ UçãEõ ?
(A) 2 (B) 4 (C) 6 (D) 8



87. Similarity between a square and a  rectangle is ...............
.................... » ålùyTö [ýGïãlùy %ç»Ó %çÌ̂ Töãlùy» açVỀ î %çä$K÷*
........................... AÌ[ý ålùæy [ýGïålùy A[ýe %çÌ̂ TöãlùäyÌ[ý açVỀ î %çäK÷*
(A) area (B) sides (C) angles (D) None of these

Eõç×_ [ýç§ åEõçS A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂
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88. If the diameter of a circle decreases to its 

1
4

 then its radius decreases to ...........
^×V AOôç [ýÊwø» [ýîça 

1
4

 mS âÑ÷ça c÷Ì̂ , åTöãÜ™ö +Ì̂ ç» [ýîçaçWýï ....................... mS âÑ÷ça c÷[ý*
^×V AEõ×Oô [ýÊãwøÌ[ý [ýîça 

1
4

 mS Eõ]çãXç c÷Ì̂ , Töã[ý +c÷çÌ[ý [ýîçaçWýï ....................... Eõ]ã[ý*
(A)

1
2

(B) 4 (C) 2 (D)

1
4

89. The maximum length of each piece that can be cut from 18m and 24m long strings is ...........
18 ×]. %ç»Ó 24 ×]. VÝH_ VÇQöç_ »×$K÷» Y»ç Eõç×Oô[ý Y»ç VÝHïTö] YÒ×Tö OÇôEÇõ»ç »×$K÷» åLçF c÷[ý ..........................*
18 ×]. A[ýe 24 ×]. éVãHïîÌ[ý VÇ×Oô Ì[ý×` åUãEõ EõçOôãTö YçÌ[ýç VÝHïTö] YÒ×Tö OÇôEÇõÌ[ýç Ì[ý× Ì̀[ý ]çY c÷ã[ý .................*
(A) 72 m (×].) (B) 3 m (×].) (C) 6 m (×].) (D) None of these

A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂
90. An acute angled triangle may be ..................

AOôç aÉ©¿ãEõçSÝ ×Åy\ÉöL ........................ c÷[ý* / AEõ×Oô aÉ©¿ãEõçSÝ ×Åy\ÇöL ............... c÷ãTö YçãÌ[ý*
(A) scalene triangle (B) isosceles triangle (C) equilateral triagle (D) All of these

×[ýb][ýç§ ×Åy\ÉöL a]×ˆù[ýç§ ×Åy\ÉöL a][ýç§ ×Åy\ÉöL %çOôç+ãEõ+Oôç
×[ýb][ýç§ ×Åy\ÇöL a]×ˆù[ýç§ ×Åy\ÇöL a][ýç§ ×Åy\ÇöL a[ýEõÌ̂ ×Oô

91. What is the difference in perimeter between the two shapes given below ?
Tö_Tö ×VÌ̂ ç ×$Jôy VÇOôç» Y×»aÝ]ç» YçUïEõî ×Eõ]çX ? / XÝä»Jô åVCÌ̂ ç ×»Jôy VÇ×OôÌ[ý Y×Ì[ýaÝ]çÌ[ý YçUïEõî EõTö ?

12 mm

     

13 mm

(A) 25 mm (×].×].) (B) 11 mm (×].×].) (C) 9 mm (×].×].) (D) None of these
A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

92. A polygon is a figure bounded by more than ....................
............................. TöêEõ %×WýEõ [ýç§ã» %çm»ç ålùyEõ [ý§\ÉöL å[ýçã_* / ............................... åUãEõ å[ý`Ý [ýç§¥çÌ[ýç å[ý×rôTö ålùyãEõ [ý§\ÇöL [ýã_*
(A) two sides (B) three sides (C) four sides (D) None of these

VÇOôç / VÇ×Oô ×Tö×XOôç / ×TöX×Oô $Jôç×»Oôç / JôçÌ[ý×Oô A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂
93. The perimeter of a rectangle of length 25m is 80m. The breath of the rectangle will be ..............

25 ×]Oôç» éVHïî» %çÌ̂ Töãlùy AOôç» Eõç×_ 80 ×]Oôç» c÷ã_, %ç^TöãlùyäOôç» YÒØšö c÷[ý ..................
25 ×]OôçÌ[ý éVãHïîÌ[ý %çÌ̂ Töãlùy AEõ×OôÌ[ý Y×Ì[ýaÝ]ç 80 ×]OôçÌ[ý c÷ã_, %çÌ̂ Töãlùy×OôÌ[ý YÒØšö c÷ã[ý .......................*
(A) 55 m (×]) (B) 105 m (×]) (C) 15 m (×]) (D) None of these

A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂
94. A quadrilateral in which only one pair of opposite sides are parallel is called a ........................

×^äOôç $JôTÇö\ÉöÛL» ]çy AãLç» ×[ýY»ÝTö [ýç§ a]çÜ™ö»ç_ TöçãEõ ............................. å[ýçã_*
å^ »JôTÇö\ÇöÛãLÌ[ý ]çy AEõãLçQÍöç ×[ýYÌ[ýÝTö [ýç§ a]çÜ™öÌ[ýç_ TöçãEõ .......................... [ýã_*
(A) trapezium (B) parallelogram (C) square (D) rectangle

æ®Ïô×Y×LÌ̂ ç] a]çÜ™ö×»Eõ / aç]Ü™ö×Ì[ýEõ [ýGï %çÌ̂ Töãlùy
95. If 29 x 27=783, then 0.29 x 0.27 = ................

^×V 29 x 27=783 c÷Ì̂ , åTöãÜ™ö 0.29 x 0.27 = ...........
^×V 29 x 27=783 c÷Ì^, Töã[ý 0.29 x 0.27 = ...........
(A) 0.0783 (B) 0.783 (C) 78.3 (D) None of these

A$$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂



96. ABCD is a rectangle where AB = 20 m. and BC = 30m. The sum of its angles is ..................
ABCD AOôç %çÌ̂ Töãlùy* +Ì̂ ç» AB=20 ×] %ç»Ó BC= 30 ×] +Ì̂ ç» åEõçS åEõ+Oôç» a]×rô ...........................*
ABCD AEõ×Oô %çÌ̂ Töãlùy ^çÌ[ý AB=20 ×]. A[ýe BC= 30 ×].* +c÷çÌ[ý åEõçSm×_Ì[ý a]×œö.............................*
(A) 17.60 (B) 1800 (C) 8.80 (D) None of these

A$$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂
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97. 50342135 - 46380651 = .......................
(A) 3989294 (B) 3961484 (C) 3942384 (D) 3969484

98. If 8.75 m of cloth costs 420, then the cost of 1m of cloth is ................
^×V 8.75 ×]Oôç» EõçãYç»» ]É_î 420 OôEõç c÷Ì̂  åTöãÜ™ö 1 ×]Oôç» EõçãYç»» ]É_î c÷[ý .....................*
^×V 8.75 ×]OôçÌ[ý EõçYãÌ[ýÌ[ý Vç] 420 OôçEõç c÷Ì̂ , Töã[ý 1 ×]OôçÌ[ý EõçYãÌ[ýÌ[ý Vç] c÷ã[ý ...........................*
(A) 36 (B) 42 (C) 48 (D) 54

99. The difference between the place value and face value of 5 in 31520332 is .............
31520332 is ............. Tö 5 » ØšöçXÝÌ̂  ]çX %ç»Ó açe×FîEõ ]çX» YçUïEõî c÷[ý .................
31520332 åTö 5 AÌ[ý ØšöçXÝÌ̂  ]çX A[ýe açe×FîEõ ]çãXÌ[ý YçUïEõî ...........................*
(A) 49998 (B) 499995 (C) 49995 (D) None of these

A$$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂
100. Which of the following is divisible by 9 ?

Tö_» åEõçXäOôç 9 å» ×[ý\öçLî ?
XÝä»JôÌ[ý åEõçX×Oô 9 ¥çÌ[ýç ×[ý\öçLî ?
(A) 2378 (B) 2379 (C) 83601 (D) None of these

A$$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

XXXXXX


